Quiz 6A, Calculus 2 RV AP

Dr. Graham-Squire, Spring 2013

/

1. (3 points) (a) Use the Maclaurin series for e® to express & 26(-7") gs a . power series. Make
sure to simplify your answer.

(b) What will be the radius of convergence for the po'wer series you found in part (a)7
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2. (3 pomts) Fmd the second Taylor polynomial (T(x), wluch is the approximation up to the
~ 3rd term) for the fuuctlon y = Inz at a = e. Note that
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3. (4 points) Match the equation to the graph:

(a) 16 =2"+¢° (‘rﬂ
(b) z=z2 ()
(c) 2 +a2®=16 (i)
’E2 2 2
@ =-E oLz ()
() 2+3P=(2+sin(@)? (i)




" Quiz 6B, Calculus 2

Dr Graham—Sqmre, Spring 2013

1. (3 points) Find the second Taylor polynomial (T3(z), which is the apprommamon up to the
3rd term} for the function y = Inz at o = e. Note that : :
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(3 pomts) (a) Use the Maclaurin series for e” to express x e(“” ) as a power series. Make
sure to simplify your answer. :

(b) What will be the radius of convergence for the power senes you found in part {(a)?
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3. (4 points) Match the equation to the gféph:

a) 1= +—~ CHJ\
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(b) 16 = =z —!—y2 (nﬂ

(c) = —-:r:2 (\I‘)

(d) =z (2+sm(:t: )? (.l)
(e) 22 +x% =16 (7
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